
2.PÍSEMKAZDISKRÉTKYHodněštěstí!

Vzorovápísemka.

Pøíkladprvní.Naleznětevšechnykružnicelichévelikosti,kteréjsouobsaženy(jako
podgraf)vnásledujícímgrafu:

Nezapomeňtezdůvodnit,žejsouvšechny.

Řešení.Očíslujmesivrcholyzlevadoprava,odshoradolů:1,2,3,4,5,6,7,8.Průchodemdošířky
(nebojednoduchouúvahou)vidíme,ževrcholy1,4,7spolutvoříjednupartitubipartitníhografu,
azbylévrcholydruhoupartitu.Tedyjegrafbipartitní,akdyžjebiparitní,neobsahuježádnou
lichoukružnici.

Pøíkladdruhý.ExistujedvojicegrafůG,G′taková,žeG′=G(G′jedoplňkemG)a
|E(G)|,|E(G′)|≤cnpronějakoukonstantuc?Rozhodněteazdůvodněte.

Řešení.Dvojiceneexistuje,protožeplatí,žesoučethranvgrafuajehodoplňkujevždyckystejný,
aroven(n2).Toječíslokvadratické,atedyhonejderozdělitnadvěmnožinyE(G),E(G′),které
jsouobějenlineární.Dvojicetedynemůžeexistovat.

Pøíkladtøetí.MějmestromTnanvrcholech,kterýmávšechnystupněrovny1,2
nebo3.(Takovýmstromůmseříkábinární.)Mějmetakéjedenspeciálnívrcholvs∈V(T)pro
kterýplatí,žedeg(vS)≤2.Zadefinujmesifunkcihnásledovně:

„h(v)jedélkacesty(měřenopočtemhran)zvsdov,h(vs)=0.ÿ

Dokažte,žeprokaždýtakovýstromTakaždývrcholvsplatí,že∃w∈V(T):h(w)≥log2n.

Řešení.Průchodemdošířkyzvrcholuvsvidíme,žeúroveň,vekterézrovnajsmevprohledávání,
přesněodpovídáhodnotěfunkceh.Protožekaždývrcholsousedínejvýšes2novýmivrcholy(má
stupeňnejvýše3,apojednéhranějsmedonějvstoupili,provrcholvstoplatízdefinice),takv
každévrstvěimůžemevidětpouzenejvýše2

i
vrcholů.

Nynísivšimneme,žeprvníi,prokteréplatí,že20+21+22+...+2
i
≥njevelikostilogn.Jetedy

vidět,žeikdybyvšechnyvrstvyměly2
i

vrcholů,jepotřebalognvrstev,akdybyněkteráneměla,
otovícevrstevjepotřeba.

Noaprotožejsmeužnazáčátkuviděli,žeh(z)odpovídáhloubcevrcholuz,dokázalijsme,že
hloubkabudealespoňlognatedyexistujevrcholwsh(w)≥logn,cožjsmechtělidokázat.



Pøíkladètvrtý.MějmegrafG.VytvořmeznějgrafhranLGpodlenásledujícího
popisu:

•vrcholyLGjsouhranyG,čiliV(LG)=E(G).
•hranyLGjsoudvojicehran{e1,e2},kteréjsouspojenyzastejnývrchol,čili∃v∈
V(G)takový,žev∈e1∧v∈e2.

Dokažte,žegrafsevšemistupnirovnýmirbudemítgrafhranLG,kterýmátakévšechnystupně
stejné.Odvoďtetakévzorečekprojehostupně.

Řešení.Kdyžmajíobavrcholystupeňrajenjedinouspolečnouhranu(zdefinicegrafu),musí
tedytatohranavgrafuhranmítstupeňpřesně2r−2.Toplatíprokaždouhranu.

Pøíkladpátý.Artikulacejevrchol,kterýkdyžodebereme,taksenámzvýšípočet
komponentoalespoňjedna.Mostjehrana,kteroukdyžodebereme,taksenámzvýšípočet
komponentoalespoňjedna.

Buď|V|≥4.Dokažtenebovyvraťtenásledujícítvrzení:

•Obsahuje-lisouvislýgrafna|V|vrcholechartikulaci,obsahujeimost.
•Obsahuje-lisouvislýgrafna|V|vrcholechmost,obsahujeiartikulaci.

Řešení.Prvnítvrzeníneplatí:stačíspojitdvělibovolnékružnicetak,žesloučítejedenvrchol
zkaždé.Taktopropojenékružnicestáleneobsahujímost,aleodstraněnímspolečnéhovrcholu
(artikulace)zvýšítepočetkomponent.

Druhétvrzeníplatí.Vezměmesivsouvislémgrafumostuv.Protožegrafmáalespoňčtyřivrcholy
ajesouvislý,unebovbudemítvětšístupeň,nežjedna.Předpokládejme,žejetou,ajehodruhý
sousedjew.Pakodebránímuodeberemeihranuuv,adíkytomu,žehranauvbylamostem,nyní
vjesoučástíjednékomponentyawdruhé.Početkomponentjenyníalespoň2atvrzeníplatí.


